Manual IL-PKITMNG60 & IL-PKITMN120

Material composition

@ Adjust the regulator to the suitable hight

roof
plastic M4*25 . . M3*6
expansion self-tapping fixing fixing steel rope regulator nut hanging part self-tapping
part A part B
screw screw screw
Panel Light
roof
Product TYPe = ] P D f i
IL-PKITMN120 6PCS  6PCS  6PCS  6PCS 6 PCS 6 PCS 6 PCS 6PCS | 12PCS
IL-PKITMNG0 4 PCS 4 PCS 4 PCS 4 PCS 4 PCS 4 PCS 4 PCS 4 PCS 8 PCS
Installation Panel Light
If the installation surface is too narrow, we suggest making the
@ @ @ two fixing parts near to each other, please refer to drawing below.
Remove M3*6 screws of these positions Fix the hanging parts with M3*8 screws Install as below diagram

cut out 85mm hole

LED Panel

———fixing part B

- steel rope

- regulator

< - fixing part A

LED Panel

--M4*25 self-tapping screw

Narrow Mounting Surface
Min 50mm

Panel Light ~

Narrow Mounting Surface

Min 50mm

Panel Light =





